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Q.NO ANS Q.NO ANS Q.NO ANS Q.NO ANS

1 14 27 40

2 15 28 41

3 16 29 42

4 17 30 43

5 18 31 44

6 19 32 45

7 20 33 46

8 21 34 47

9 22 35 48

10 23 36 49

11 24 37 50

12 25 38

13 26 39

{Q>n …- {X. 25 ‘mM© 2018 amoOr Pmboë¶m S> m°. gr.ìhr. am‘Z ~mbd¡km{ZH$ narjoVrb àíZn{ÌHo$ V H$ moUË¶mhr àíZm~m~V

qH$ dm n¶m©¶r CËVam~m~V Amjon/ÌwQ> r/e§H$ m/gyMZm Agë¶mg {X. 8 E{àb 2018 n¶ªV

¶m ‘ob da qH$ dm 9421556755 ¶m À¶m ‘mo~mB©b da nmR>dmì¶mV. (Amnbo Zmd, VmbwH$ m d B¶ËVm ¶mMm CëboI

Agmdm.) {Xbobr CËVan{ÌH$ VmËnwaË¶m ñdê$ nmV AgyZ A§{V‘ CËVagyMr {X. 10 E{àb

2018 Z§Va do~gmB©Q>da CnbãY hmoB©b.
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